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Intro

Today we will i”va learn » 97 of ©na1 nooN n1’D’JDﬂ J'I'I RUTI
Some of the topics we will learn about include. J.anDn ]D JTI"IR 10’]‘] DR
A continuation of the sources that for all the mxon 99" R‘, 15’&:

nrion

MINHA I AR 90N DR

993 X2 17K

All the minn are 210v», mandatory, for the 7992.

The Machlokes regarding the source for the minn» "7 of
N3 5w 127050 0

mann ‘T
M2 YW 927 0YYN D

The Machlokes regarding the mT2ay that are 2591 on
MO0 0O

The three Halachos of

. 15201 07 IR
1.

DR

DIAZRIV POR WD nb’:U:.' T nN

The nxinis Kosher even if there was a wart on the

Kohen'’s finger, and it is not considered a nx’3m, an The Pasue g rly 33 20 Sales
interposition D92 &R mN fon Bab
2.

o2

RIPPYP 12720 MW DTARTY RNV ‘I’l’)Dﬂ'? Rb.'
At the time of n52p, the n7w *>> must contain enough 072 ]’DR AD0N

blood as the Myw of wazr N5 av, to dip his finger into it.
However, if they first received less than the 1w in two 11}”\” DJXRJ'QJ
o5 and afterward the two were combined into one *5, -‘l,,:U
and now there is a 720 T w, the nxin is Pasul. '

RIPPYD

3,

pale]

2901 R

The Kohen must dip his finger into the 07 in the *53, but he
should not collect the blood by wiping his finger on the
side of the 5.

The Machlokes in the source for 0201 072 N regarding
the 095707 79

)
eskel .
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So, let's review ...

The Gemara in the previous Daf discussed the sources for
all the N> 197 mxvn that

TINA 1 NNR 70°T DR

9973 RH 1RO

All the minn are 20v», mandatory, for the 1195, because
the Pasuk of 927 05y 79 states

nRLMT 195 NYY TR 195 UM

D IvY 19

D> NS0 1797 DIPYY 10

The source for m2oy» 1 1 is in the words
WY TWRI TV

And the source for m25v» "7 101 is in the words
v’ 19

The Gemara asks

12991 12197 T I W

1291 121 037 10

Why is a separate Pasuk, nwy» 13, needed for 701’7 After
all, 2595 2m57 Y5y mw?

Since both, 101’ and 7 171’ were mentioned twice, once in
the previous Pesukim, and a second time they were both
included in 7wy JwWRD nwYy; both 11N’ and 7100’ are
mandatory?

DafHachaim.org

The Gemara in the previous Da% discussed
the sources /ar ll the PIpgOD Ikl that
mannn P NNR 90N OR
997 XY 1RO

All the mann are 2ov» for the o2,
because the Pusuk 0% 23 plfp 10 Mates
mnbrs Ags Sb Ao g S
35 St 1o
o ook insh o) Ne

v v
The source for The source for

maoyn "7 1NN maoyn ‘T Jn

is in the words is in the words
nom 1> NWY IWND - NWD)

?

197991 12°N57 ‘T |ND W'D
19?921 12°N3 NP1 T |IN
Why is a separate Pasuk, nww )3, needed for'1)nn'?

After all, 2005 21000 by Naw?
Since both, '1)nn and ' T )nn were mentioned
twice,
once in the previous Pesukim,
and a second time
they were both included in nwy YwR> nww);

both't)np and ' 1 )np are mandatory?
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The Gemara offers two explanations:

1.

Y 717 say’s

PYPY 175 RHR RDIRI RS

The Braisa follows j7w»w *27's opinion that the Pasuk does
not explicitly mention 7 1m;

As nwnw a7 says

DIW MR 1P IR 1HUNS

YIIN NP PIP IR N T0nh

The Pasuk of mwii 170 19 states miap pluralized which
implies two ninn, and the Pasuk of 327 05 70 also states
n19p which implies two mam;

And since the word 795 creates a wp’n, a comparison
between these two Korbanos, it teaches that each Korban
requires in all four minmn.

And since the Pasuk of 927 05v11 99 only mentions two
nin», only these minm are included in 7wy TwWRD WYY, but
the other two minn that are derived through the w1 are
not included in nwY TwR> WY, and therefore we need 1o
7wy’ to teach that the other two minn are also mandatory.

77 17 however disagrees and says that even without the
wpn we know minn ', because regarding both mwn 17599
and 727 05v11 10 the Pasuk states

DO NNOP R P ..

TV 5N TOR

The words 7w Snixa are superfluous and teach

TV SR NORA 52 DY

The minmw are required on all that is inside the 5>n, which
comes to include all minn 7 of the 197 N2

And according to 77 °217, since the Pasuk does mention
all the minn 7, they are all included in 7wY TWR VY
And the words 7wy’ 10 are needed to teach something else
that

D907 07 39

DT YW 100D

The o901 01 99 requires 71210 and 07 W NYOW;
Because otherwise we would have thought that these are
not included in the wi’n of 995, because

71799 R20Y1H RST ATV

They are not mandatory for i71792.

DafHachaim.org

&

DN PRI

pUDLY 1275 ROR R>INI R

The Braisa follows pypw 127’s opinion
that the Pasuk does not explicitly mention 1 nn;

5 sayy
IR RN NONY IR NOYNY
mp 1P P 1P
VIR DINY
and the Pasuk of 727 bbvn 19 The Pasuk of mwni jn3 1

also states m»p which states m»p pluralized
implies two many; which implies two manp,

And since the word 195
creates awpn between these two Korbanos,
it teaches that each Korban requires in all four man.

And since the Pasuk of 727 p5vn 9 only mentions two manp,
only these mann are included in nwy IWNRD nwD),

Therefore we need nwy )3 to teach
that the other two mann are also mandatory.

23/ D) /Wm
Even without the wirn we know mnn '7,
because regarding both mwy Jn2 9o and 727 D5y 1©

the Pasuk states
T30 Ik rrain minn B
=$oma N AN

274 Pt YMED bk
The manp are required on all that is inside the 5>,
which comes to include all mnn 'T of the m1on namm

And according to nmin 123,
since the Pasuk does mention all the mann '7,
they are all included in nwy YWNR> DY),

And the words nwy»)> are needed to teach that

0*11D%N 01 1D
7N MW NOMDY
The D950 DN D requires 2D and DY NDW;

Because otherwise we would have thought
that these are not included in the win of 795,

because
779> R2OYH 5T Ny

They are not mandatory for mo>.
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2.

7R explains that even according to 777 °27 we need 12
wy to teach 7101’ and even though it was already
included in nwY TWRD WYY, because

RPN JOVT RPOO

D77 PWI NPHOR WNT TN

RIOYD R 1797 )3T V'YRT

20Y1N RS 11 YIIR IO

We would have thought that just as N> and 07w nyow
are not 20V» in NPR157 MNVN even though they are
mentioned twice because they are not 25V in MRVN
R

So too, 71N’ is not 20v» even though it was mentioned
twice, because three out of the four min» are not 25v1 in
NPNRN MIRVN?

Therefore, we need 7wy’ 7 to teach that all the 70’ are
20V» In M350 MROVN because one MINY 1S 20VH 1n MRV
N

While 079w 7°no are not 10v» in D100 MRV, because
they are not 20v» at all in NP1 MRLA.

Dedicated By:

DafHachaim.org

@

npt
Even according to nTi 12y we need nww )3 to teach' 7 )p»
and even though it was already included
in WY VNI YD),

RYPN INYT NpbD
DTN W) NDIHLDN MNT 7DD
N2ODVP RD )592) JNOT I"UNT
20DNN R M DIIN D

just as n>wp and p»y»w N>oY
are not 250 in NIPION NINDLD
even though they are
mentioned twice
because they are not 20vp
TN NN NINDD;

So too, T |np is not 25vn
even though it was
mentioned twice,
because three out of
the four mann are not 20vn
in nP2VN MNLN?

Therefore, we need nwy» )> to teach
that all the'T jnp are 25vp in HPIDN MNLD
because one nny is 250 in HPNLN NRDD;

While D»yw) 2D are not 2501 in Do NINLD,
because they are not 20vp at all in RPN MNDD.
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The Gemara proceeds with the wp’n1 of 795 in which oy 19
D051 is compared to 1123 Sw 727 05vn 19

The Gemara explains that the Wi is not needed to teach
that the min» of 119> oy are 210v», because we already
know this from the Pasuk of 119> oy

o npIn 035 NNt M

The word npn implies 21205

Rather, X095 27 explains

RIIRIND

72021 D7 NRY ROR

The wp'n comes to teach that the following three
Halachos apply to o007 01 99:

The Pasuk of mwn» 1710 79 states

DT72IVABR NN 1707 palel

1.

DR

VIAZRIV POR PWITD

(pronounced Umin)

The word nx implies 1wasKR> o0 and teaches that R is
Kosher even if there was a wart on the Kohen’s finger, and
it's not considered a 7%°x1, an interposition.

2.

D72

RPN 72720 MW DT RPY

The word 072 teaches that at the time of 75ap the 7w 5
must contain enough blood as the Mm»w of 1wa3r n>10, to
dip his finger into it.

But, if they first received less than the MW in two 05>
and afterward combined the two into one '3 and now
there is a 720 MW, the XA is Pasul.

DafHachaim.org

The Gemara proceeds with the wpn of 705
in which oo Dy 9 is compared to
22'% 5w 727 D5YN 1D

The wpn is not needed to teach
that the mann of 19 D» are 2ovn, because we already
know this from the Pasuk of > p»

oo meTs B Nt
t,w')//

£OO P
RN XY
N9%2V2) 07 NRY RHN

The wpn comes to teach
that the following three Halachos
apply to Dm0 D» I9:

The Pasuk %ﬁf&//ﬂ) 10 Stated

o= WaEN TR fEan ety

YIRRIAY PHR PWINY
The word nR implies w2¥Rd bovn and teaches
that nntn is Kosher even if there was a wart on the
Kohen’s finger, and it’s not considered a n®xn,
an interposition.

2
o3 HEENR IR foon ety

N9%20 MY 072 RMWY
RIPIYN
The word p12a teaches that at the time of nbap the mw 5>

must contain enough blood as the M of 28R N>,
to dip his finger into it.

But, if they first received less than the mw in two Db
and afterward combined the two into one15>
and now there is a n>ap MW, the ANt is Pasul.
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BT DNt

3,

pate)

3OO RY)

The word Y201 teaches that the Kohen must dip his finger
into the 07 in the *53, but he should not collect the blood by
wiping his finger on the side of the '5>.

The Gemara proceeds with a supportive Braisa to x99 27
from »27 who says

295 5" 0o

oMo oY 39 M

DIV NORY 710 535

The wpn of 995 teaches that 951 DY 70 requires all the
Halachos that were derived from these Pesukim such as
723021 072 NN,

Srp»w’ 317 however disagrees and says that we do not
need a w1 for Mo DY 95 because we already know
this from a 31 5p, but rather the first 905 refers to

M8 5w 727 05YR 0

And the second 195 refers to

wR 171219

And the Gemara in the next Daf will elaborate on this
.

DafHachaim.org

3
oo RN MN fon Dai
ADDN RN

The word bav teaches that the Kohen must dip his finger
into the b7 in the b, but he should not collect the blood
by wiping his finger on the side of the5>.

A supportive Braisa to No® 1) from
12y who says

999 5"Nn NN
0>NMD5N O 9D MY
1722 MRY "N 935
mxbrs g S ~xz g Sin
1 Hpd i

oD ool fHoh o ~eo

The wirn of 705 teaches that o0 br 19 requires
all the Halachos that were derived from these
Pesukim such as: n>2v21 D72 DN.

SRppwr 12y however disagrees
We do not need a wpn for o197 Dp o
because we already know this from a»mn by,

rikbort P9 '2)aPY ARz Pe AN
35 b 12
oD ook fHoh oY ~o

And the but rather
second o) refers to the first 105 refers to

N N 1D 92T DbYN 1D
28 bw

The Gemara in the next Dafy witl elaborate on this .
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The Gemara now discusses SRp»w? *27's 1 5p for or 79
D107, as follows:

129375 1297 MW ROW DIpP2 )

DWYRH DWYP MY

If regarding the mxvn of 313z YW 727 05Yn 70 and bw PYw
1957 0y which are different animals, one is a 99 and the
other is a Yyw;

Nevertheless, their mxii are the same in that both are
done with the ya3x toward the n5179, and on the mip of
the 392 mam;

Then,

12975 127 Mwnw o

TR VYL MW PTIPR

The mron of mwn» 75 99 and 01957 DY 99 which are both
ano;

Their mxin are certainly the same, and both require 0721 nX
1201,

And the Gemara makes a similar 1M 5p to oy Yvw
o957 from ©°115 N2y 1YW that both require D72 NX
>0,

This discussion continues in the next Daf.

DafHachaim.org

The Gemara now discusses SRvPY? 227’ N bp
forpmoon pr o

mpN2 M
12999 129 MWD ROWY
DXVWYNH DXVYN MON

Nevertheless, their mnth are the same
in that both are done with the vagR toward the nono,
and on the m»p of the mpa nary;

12999 129 MYNW PN
NWYNY DWYN MWW T IR

Their mnTi are certainly the same,
and both require n»2p2) DT DN.

And the Gemara makes a similar yom 5p
to DM®on D YYW from D213 NTIIY YVY
that both require n»2ap2) DT2 PN.
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